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For each gquestion, write the correct answer.

1. Which number is the standard form of five thousand two hundred #”
sixty-nine. |
r"d_EL 55,269 T
b. 5,069
c. 5,269

2. What is the expanded form of the number 19,4027

a. 10,000 + 9,000 + 40 + 0 + 2

b. 10,000 + 9,000 + 400 + 0 + 2
c. Both a and b

3. What is the standard form for this number: 40,000 + 300 + 10 + 97
_‘-u\"

(" a. 40,319
Lh. 43,019
c. 4,319 P

4. Which answer shows 3,050 correctly written in words?

a. Three thousand and fifty
b. Three thousand-fifty

c. Three thousand fifty

5. Which answer shows 98,023 correctly written in words?

a. Minety-eight thousand twenty-three
b. MNinety eight thousand and twenty-three

c. MNinety-eight thousand and twenty three
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